Table 5
Sheet 3 of 15

Hydrograph femily 1

TO/Tp==25 TO/Tb = 36 TO/Tb =.50 TO/Tb = 75
Line t/Tb qc/qp Line t/Tp qc/qp Line| t/Tp, qc/qp Line t/Tp qC/qp
No. No No. : No.

1 0.00 .000 1 { 0.00 .000 1 0.00] .0000} 1 0.001] .0000

2 1.22 .002 2 1.70 .002 2 2.00{ .00194 2 3.00} .0017

3 2.44 .009 31 3.40 .008 3 4.00] .0052] 3 6.00] .0039

4 3,66 .018 4 1 5.10 014 4 6.00] .00831 4 9.00.] .0054

5 4.88 .027 S 6.80 .020 S 8.00] .0118 5 12.00} .0084

6 6.10 .036 6 | 8.50 .026 6 10.00] .0151§ 6 15.00] .0106

7 7.32 .046 7 110.20 .033 7 12.00| .01924 7 18.004 .0137

8 §.54 116 8 111.90 .Q77 8 14.00] .0259] 8 21.00] .0197

9 9.76 .232 9 113.60 .177 9 16.00] .05781i 9 24.00| .0516

10 10.98 .146 31 10 [15.30 .101 10 18.00] .13304 10 27.001 .0900
11 12.20 .088 1 11 |17.00 .058 |11 20.00] .0941] 11 30.00| .0593
12 13.42 .062 1| 12 |18.70 044 |12 22.00| .05064 12 33.001 .0321
13 14.64 .051 13 120.40 .036 |13 24.00] .03571113 36.00 ‘.0226
14 15.80 L0451 14 [22.10 .030 14 26,00 .02971 14 39.001 .0188
15 17.09 .039 1] 15 123.80 027 115 28.00! .02541 15 42.00] .0161
16 118.30 .0354 16 125.50 .024 116 30.00] .0219]116 45.00] .0142
17 19.52 0310 17 127.20 022 1117 32.00] .01921 17 48.001 .0125
18 20.74 L0271 18 128.90 .020 1118 34.00| 0172118 51.001 .0112
19 21.96 .0254 19 [30.60 .018 |19 36.00{ .01591} 19 54.00 1 .0105
20 23.18 L0251 20 [32.30 .017 1120 38.00] .0150 1 20 57.001 .0100
21 24.40 02510 21 134,00 017 021 40.00] 01451 21 60,00 | 0097
22 | 25.62 0200 22 135.70 .017 122 42.00] .0140] 22 63.00] .0094
23 26.84 0051 23 137.40 .004 |23 44.00| .013614 23 66.00 | ,0090
24 28.06 L0021 24 {39.10 002 | 24 46.00| .01311 24 69 .00 | .0087
25 29 .28 .000]| 25 140.80 .000 | 25 48.00] .0125] 25 72.00 ] .0084
26 50.00| .01231] 26 75.00 | .0081

27 52.001 0016 27 78.00] .0002

28 54.00] .0000 | 28 §1.00 ] .0000




Table 5

Sheet 4 of 15

Bydrograph family 2

Tty =1 T,/Tp = 1.5 To/Tp = 2
o R el B R s o R
1 | 0.00] .000 0.00! .00Q 0.00] 000
2 | 0.28] .026 2 _| 0.,22! .003 2 1 0.28] .00k
3 | 0.56] .170 3 1 ok 041 5 10.56] .040
L | 0.84] 480 L | 0.66] .161 L 10.84) 270
5 11.12] .802 5 1 0.88] .362 5 11.12] 428
6 | 1.k0] .88 6 | 1.10] .6Ck 6 | 1.40] 645
7 11.68] .770 7 1.32] .7h0 7 11.68] .715
8 11.96] .550 8 | 1.54] .790 8 11.961 .677
9 | 2.24| .380 9 11.76] .74 9 1224 .57k
10 | 2.52]| .257 10 | 1.98] .64 10 1 2.52] .u7e
1 | 2.80f .166 | 11 | 2.20| .53 | 11 | 2.80] .369 [ 11 | no
12 | 3.08] .11% 12 2.42] Lk 12 1 3,08] .247
13 | 3.36| .078 13 2.64] .303 13 13,36 .168
1k | 3.64| (052 | 14 | 2.86| .219 | 1k | 3.64| .11%
15 | 3.92| .03k | 15 | 3.,08] .160 | 15 | 3.92| 075
16 | k.20| .023 | 16 | 3.30| .117 | 16 | 4.20| .ca0
17 | 4.48] 015 | 17 | 3.52| 088 | 17 | k.48 .07k
18 | 4.76] .009 | 18 | 3.74| 064 | 18 | L.,76| .02
19 | 5.0k ,004 19 13,96/ .047 | 19 |5.04| .00k
20 | 5.32| .002 | 20 | 4,18| .0%35 | 20 |5.32]| .008
21 | 5.60| .001 21 L.4o| .025 21 | 5.60|.00L
22 | 5.88] .000 22 | L.62] ,018 22 |1 5.881 .003
23 k8L 002 {235 |6.16] .002
2k 15,06 .007 2k | 6.44 | Lo0n
25 | 5.28| .00k | 25 |6.72] .000
26 |5.50| .003 N
27 | 5.72] .002 .
28 | 5.94| .001L
29 | 6.16] .000
|
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Sheet 5 of 15

Hydrograph fomily 2

TotTy = b T,/Tp = 6 To/T, = 10 To/Tp = 16
voro| T [P | Rl fses fhioe |y Jaesay | Lane | m, | acge
1.10.00{ .000§ 1 0.00] .000} 1 | 0.00| ,000 1 | 0.00| .000
2 ] 032 002 o 0.34| 001 2 | 0,63 ,002 2 | 0.90] .002
3 1064 0090 3 | 0.68] L0054 3 |1.26] .009 3 | 1.80] .007
y | 0.96 .0%36| 1.02] 015 b 11.89] .027 L | 2.70] .020
5 | 1.28] .129 1.36] .037 5 | 2.52] ,06% 5 | 3.60{ .0%37
6 | 1.60] .3324 6 | 1.70] .098] 6 |3.15! .0%6 6 | k.50 .148
7 1 1.92] 501 7 | 2,04 oLk T [ 3.78] .36k 7 5.40] .277
8 | 2.241 .550| 8 2.38]  .L4o7 8 | 4.k .307 8 6.30] .21k
Q [ 2.56] 5001 9 | 2.72| Lu6hk) 9 | 5.04| .o06 9 | 7.20] .1k9
10 | 2.88] .h22 |10 | 3.06] k29| 10 |5.67] .172 | 10 | 8.10] .12
1 | 3.20] 38111 | 5.0 .367] 11 |6.30] .16 | 11 | 9.00| .og8
12 | 3.52] .302 12 .74 3091 12 | 6.93] .113 | 12 9.90] .073
13 | 3.84%| .27k 13 L.08] .261) 13 | 7.56| .097 13 [10.80 .063 _
1 | 4.26] 230 1k | u.e| .22k 1k |8.9] .085 | 1% |11.70 .056
15 | 4.48] .1951 15 ho76| 193] 15 18.82]| .078 | 15 |12.60f .052
16 | %.80| .147] 316 | 5.10| .169] 16 | 9.45| .o7% | 16 |13.50| .ok8
17 (2-2) .099 | 17 | S.M4) 152} 17 10.08| .069 | 17 |14.ko| .04
18 | 5.4 061 18 5.78] 1391 18 no.71| .053 | 18 |15.30| .Ouk
19 | 5.76] 03719 | 6.12| .129]| 19 [1.3k| .025 | 19 |16.20] .oko
20 | 6.08] .023 | 20 6.46| .113] 20 N1.97].009 | 20 |17.10| .02%
o | 650 L013| o 6.80] .085| 21 [2.60| .00k | 21 |18.00| .006
oo | 6.72] .008 || oo 7.AL ,055 | 22 n3.23| .002 22 |{18.90| .003
0% | 7.0k .005 | 23 7.48] L0351 23 n3.86| .00 ! 25 |19.80] .00L
gl | 7.36| .00y oL |7, 8@_{_“ 020 2% nk.h9|.000 | 2k |20.70| .000
25 | 7.68] .003 | 25 8.16, .012
26 | 8.00| .002 | 26 _8‘:_5o+~. 008 {
27 8.32| .00L | 27 8.84 .005
28 | 8.64 .000]28 | 9.18] .oou
29 9.52| .003 |
- 30 9.86| .002
31 |10.20| .oo1
32 |10.54| ,000




Table 5
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Bydrograph family 2

TO/Tp = 25 T,/Tp = 36 TO/TP = To/Tp =
8 Ml el B i e el e e A e R e
1 1o0.00] .000f 1 | 0.00] .000 1 | 0.00].0000 1 0.00 .0000
2 _11.30] 002} 2 |1.79] .002 2_| 2.50].0018 2 3.04__.0012
> 12,60l ,006] 3 | 3.58] .006 3 | 5.00,.0047 | 3 6.0q__.0027
b | 300 .oikf 4 |s,.37| L0102 4 | 7.50].0087 4 9.04 .0044
5 15,20l .024) 5 | 7.16] .019 S _110.00].0145 | 5 l12.04 .0067
6 | 6.50] .088| 6 | 8.95| .057 6 ]12.50].0615 6 115.04 .0108
T 1 7.8 .200} 7 |10.74] 157 7 _115.00].1184 | 7 118.0d .0309
8 | 9,10 LJ46 1 8 112.53] .104 8 [17.50].0621 8 21.00  .0790
9 [10.%0] .097] 9 |1k.32] .068 9 120.00].0433 | 9 |24.04 .0624
10 111.70{ ,072 ! 10 |16.11| .Oh7 10 122.50].0342 | 10 27.0G  .0357
1 33.00] L057] 11 [17.90] .0%0 | 11 |25.00| 0274 11 130.00 .0283
12 [1h4,%0] .049 | 12 {19.69| .034 12 127.50{.0234 | 12 |33.0C .0234
13 115.60 .ok} 15 |21.48| .030 | 13 130.00.0209 | 13 |36.0d .0196
ik 116.90] .039| 14 |23.27] .026 | 14 |32.50| .0187 14 139.00 .0167
1> 118.20f ,035] 15 |25.06| .025 | 15 |35.00].0167 | 15 | 42.0d .0150
16 [19.5¢| .033| 16 [26.85] .023 | 16 {37.50 .0159 | 16 145.04 .0137
17 120.80] .031| 17 (28.6k| .021 | 17 [40.00|.0153 | 17 |48 0 .0126
18 |22.10] .0p9) 18 [30.43) .020 | 18 |42.50| .0147 | 18 51.00  .0115
19 |23.40] ,028] 19 |32.22] .019 19 145.00{.0142 | 19 | 54.0( 0108 |
20 |24.70{ .027 | 20 [34.01| .008 | 30 |47.50 0136 § 20 |57.00 .0104]
21 126.00] .01k} 21 |35.80) .007 | 91 |sp.00| .0131 | 21 60.04 .0101
22 |27.30] .ook| 22 |37.59| .007 22 152.50] .0008 | 22 [63.00 .0098
25 128.60] 001, 25 [39.38] .001 | 93 |s5 .00l 0000 23 __166.00 .0095
2k 129.90] .000| 24 u1.17 .000 124 169.04 .0092
) 25 172.00 .0089
N 26 175.04 .0086
27 __178.0G  .0003
28 181,04 .0000
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Table 5
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Hydroprerh farily 3

To/Tp = 1 T,/Tp = 1.5 T/T, = 2 To/Ty = 3
ﬁé?e t/Tp Qe/¢p ﬁé?e t/Tp Qc/9p %ké?e t/Tp dc/9p ﬁéne t/Tp Qc/4p
1 ]0,00] ,000 ) 1 [0.00! .00, 1 10,00] 000 1 |0.00! 000
2 10,261 o481 2 |0.29] 0284 2 lo.30! 012} 2 |o0.34| .00k
3 1052 219 3 10,58 .1904 3 |0.60]| L1235} 3 | 0.68] .088
L 10,781 521 4 0.87, 450} 4 10.901 343 Y {1.02] .289
5 11,041 ,762 5 1.16] .656 5 1120 L570 5 11361 .u89
6 1,30] 84k 6 1.45) L7343 6 11.50] .67 6 1"1,70] .543
7 11.56) 7784 7 {1.7% 6851 7 11.80) .630 ! 7 |2.04] .507
8 11.821 ,621 8 2,05] 58] 8 10,10 562 8 | 2.381 445
9 | 2,08] | 9 2,32 ALkt 9 1o ko] 484 9 _12.72] .38
10 | 2.34] .305 | 10 | 2.60| .350 ] 10 |2.70| .379 | 10 | 3.06] .3L0
11 | 2,60] .21k | 11 2,90 199 11 13,001 267 % 11 | 3.40] .,294
12 | 2.86] .akg i 12 13,19 1%y 12 (3,301 1774 12 | 3,74 ,00%
13 | 3.2] .105 | 13 | 3.48] .089 | 15 |3.60] .116 1 1% | 1.08] .149
1 |3.38] 070 | b | 3.771 057 | 1h |3.90| 076 | 1k | kel 006
15 | 3.64] .ou8 |15 | 4,06 .038] 15 |h.eo| .050 | 15 | L.76] .056
16 | 3.90! .o34 | 16 L3501 L0251 16 | 4.50] .03% 3 16 5.10 .033
17 | %.a6] .ok |17 | 464! L0151 17 |4.80| .020 § 17 | 5.4k .019
18 | h4.h2| 016 | 18 L,93| 0081 18 {5.10| .011 I 18 | 5.78] .013
19 | 4.68] .010 |19 |5.22| .005 19 |5.40]| .006 ! 19 | 6.12| .008
20 [ 4.9k ,006 | 20 5.51( L0031 20 |5.70! .00% ! 20 6,46 004
21 |5.20] .003 |22 |5.80] .002| 21 |6.00| .002 ! 21 | 6.80f .00%
22 | 5.46] .001 |22 | 6.09| .00L 22 |6.30| .001 ; 22 | 7.14 .o02 |
25 | 5.72| .000 {23 |6.38| .000 | 23 |5.50 .000 | 25 | 7.48] .00l
' o _pek | 7.8 .000 1
e _ .
| J




Table 5
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Hydrograph family 3

To/Tp = 4 T/Tp = 6 To/Tp, = 10 To/Ty = 16

0 il o il il ol N el o R B
1 10,00 .000 1_10.00! L000! 2 |0.00f 000}y 1 | 0,00l ,000
2 10.36| .003 o lohel L0002 2 losk] 0001 2 | 0.9 ,002
3 10.72] .04 % | 0,8 L0214 3 11.08] .008f 3 |1,8] .016
L 11.08] .203 | 4 |a1.06] .138] 4 11.62] .069] & | o.70 L1202
5 1.4 ] 40O 5 1.68 .326 5 12161 2311 5 32,60]  ,230
6 |1.80! .478 6 2,10] .390 6 | 2.70| .303 6 4,501 .18
7. 12.16] .450 7 1 2.52] 3631 7 13.241 2691 7 | 5.40] .1%9
8 | 2.52] .397 8 | 2.9% 314 8 | 3.78] .2231 8 | 6.30| .113
9 12.88] .34 9 | 3.36] 270 9 | k.,32] .188} 9 7.20]  .O94
10 {3.24) .296 | 10 | 3.78] .232) 10 | 4.86] .159} 10 | 8.10] .08
31 | 3.60] L2957 | 13 | 4,200 1991 11 | 5.40| 1391 11 | 9.00| 072
12 [3.96| 234 | 12 | h.62] 74| 12 | 5.9% .122f 12 9.90| .06k
13 | %32 L2100 13 | 5.08] .155) 13 | 6.48] .108| 13 |10.80] .057
1k | 4.68] .169 | ik | 5.46] bk b | 7.02] L0971 ah |11.70] .053
32 [ 5.0k} 31} 15 | 5.88] .137| 15 | 7.56] .089| 15 |12.60{ .050
16 | 5.40! .067 | 16 | 6.30{ .27 16 | 8.10| .08L| 16 [13.50] .09
17 {5.76| .037 | a7 | 6.72] .o01] 17 | 8.6%| .078| 17 |[1ik.ko| .ou8
18 | 6.22| .o22| 18 | 7.1 .063| 18 | 9.18| .077]| 18 15.30] .O4T
19 | 6.48] .01k | 19 | 7.56| .033| 19 | 9.72] .077{ 19 |16.20| .0k6
20 | 6.84] .008 | 20 | 7.98| .018| 20 110.26] .075| 20 |17.10] .02k
21 | 7.20| .006 | 21 8.40{ .010| 21 [10.80] .055| 21 [18.00| .006
22 | 7.56| .0O4 | 22 8.82] .005| 22 [11.34| .030} 22 [18.90| .OO4
25 | 7.92| .002 ) 23 | 9.24| .003| 23 [11.88] .012}! 25 |19.80| .002
2k | 8.28] .00L{ 24 | 9.66| .002| o4 (12.h2] ,006% 2L |20.70| .0CO

25 | 8.6k} .,000| 25 [10.08] .001{ 25 |12.96] .004

26 |10.50 26 |13.50( .002

27 |10.92| .000| 27 |14.0k| .00L

28 [14.58] .000

S
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Hydrogreph family 3

T, /Tp = 25 T/ Tp = 36 To/Ty = 50 Ty/Ty = 75

Il\]aine t/Tp | 9/ 9 l&ise t/Tp | ac/ap ;;ne t/Tp qlc/qp II:Ii)ne /T, 9e/9p
1 | 0.00] .000) 1| 0.00 .000 ] 1 | 0.00] .0000] 1 | 0.00] .0000
2 | 1.23] 002 2| 1.62 092l 2 | 2.25] .0008] 2 | 3.25] .0009
3 | 2.46] 0094 3 | 3.24] 006 | 3 | 4.50 .0070{l 3 | 6.50| .0057
4 | 3.690 0731 4| 4.86 047 || 4 | 6.75] .0474| 4 | 9.75] .0289
s | 4.92| .173| s | 6.48] .130 | 5 | 9.00| .0972| 5 | 13.00] .0667
6 | 6.15] .1321 6 | 8.10] .097 | 6 | 11.25] .0642] 6 | 16.25| .0445
7 1 7.38] .096 || 7 | 9.72| .069 || 7 | 13.50| .0460] 7 | 19.50] .0317
8 | 8.61] .o076 1 8 | 11.34] 052 || 8 | 15.75] .0375]l 8 | 22.75| .0257
9 1 9.84] .064 | 9 | 12.96/ .045 || 9 | 18.00| .0322]| 9 | 26.00] .0219
10 111.07] .055 || 10 | 14.58] .041 |l 10 | 20.25| .0285/10 | 29.25| .0195
11 112.30]. .050 || 11 | 16.20] .037 |11 | 22.50] .0258|l11 | 32.50] .0176
12 113.53] .046 || 12 | 17.82] .034 [l12 | 24.75| .0239(12 | 35.75] .0160
13 |14.76| .042 |13 | 19.44] .031 |13 | 27.00| .0219||13 | 39.00]| .0147
14 |15.99| .038 || 14 | 21.06] .028 |14 | 29.25| .0201]l14 | 42.25].0136
15 |17.22] .035 ||15 | 22.68] .025 {115 | 31.50] .0185|[15 | 45.50] .0127
16 |18.45] .033 ||16 | 24.30] .024 |l16 | 33.75]| .0173 {16 | 48.75] .0118
17 _119.681 .032 117 | 25.92! .024 |l17 |36.00| .0165]]17 |52.00].0113
18 12091 .031 |l18 | 27.54| .024 |18 |38.25] .01620[18 |55.25.0109
19 122.14] .031 ||19 | 29.16] .024 |l19 |40.50] .0159 {l19 |58.50].0107
20 123.37| 031 1]20 |30.78] .023 |20 |42.75] 015620 |61.75].0105
21 |24.60| .031 {21 [32.40] .023 21 |45.00] .0153|l21 |65.00.0103
22 [25.83| .025 |22 | 34.02] .023 |22 |47.25] .0150 ll22 |68.25].0101
23 |27.06| .004 |l23 |35.64] .023 |23 149.50] .0147 123 |71.50|.0099
24 [28.29| .001 |24 |37.26].007 |24 |51.75| .0028 24 |74.75|.0097
25 29.52 .000 25 38.881 .003 25 54.00 Qo000 125 78.00 0003

26 | 40.50| .000 26 |81.25 |.0000
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Ly<drograph family 4

TT, /T = 1.5 T,/T, = 2 T /T, = 3
Lioe VT Jac/ap | Linel /Ty |ac/sp (Lime |43y Jag/sy | Line | my | sy
1 | 0,00] .000 0.00] .000) 1 |o0.00] .000{ 1 1c.0l 000
2 10,28] ,05L 2 0.28] .038 2 _10.32] .03 2. _1lec.p8l _.018
3 10,56] .020) 3 |0.56] 1664 3 |0.64] 173F 3 | 0561 086
L {o0.8:] 490! 4 |O.84) .360] 4 |0.,96| 3601 & Q.84 ,200
s {12 7381 5 |1.a2] 551) 5 [1.28] WBoWi 5 1.2 W31
6 {1.40! .8%0 6 1.40] 651 6 |1.60) .555 6 11.hol  .386
7 11.68] .50t 7 |1.68] 686 7 |1.92| 567 7 13.68] .W5
e 11.96! 5731 8 [1.96] .650 8 | 2.24 €55 B 11.96] .4ee
9 o4l 300 9 [ 2.4 543 9 | 2,56 M90} g je.2b] M7
10 | 2.52] L2591 10 | 2.52] .392 | 10 | 2.88! 370! 10 .5 , 102
1L 2.80 74 |11 | 2.80] 267 ) 11 | 3.20, .2k g 1l 39k
12 | 2,08 .118 1 12 3,08 .180| 12 | 3.52) .80 1z 1 x.0bi 387
1% | 3.36| .079 | 15 | 3.36| .120| 13 | 3.8 0984 i3 | .36 .363
14 | 3.64| .053 | 14 | 3.6L| .08L ) 14 | L4.16] 063 | 1k | 5.6L .316
15 | 3,921 .0% | 15 | 3.92] .055| 15 | 4.48| L0386} 15  s.92| .236
16 | L, go‘ L025 1| 16 L.20| .0%36 | 16 | 4.80 O2h ¢ oo peC .16h
17 | 4.48] .ou7 | 17 L. 48| .02k | 17 | 5.12 OLF L 07 4.h81 ,108
18 | 4.76| .01l | 18 L76| .0151 18 | 5.4 008 | 13 5,761 .O73
19 | 5.04| .006] 19 | 5.04] .009 | 19 |5.76| .00k 1 19 |5.,04| .Ok7
20 | 5.32| .00% 1 20 |5.32| .005] 20 | 6.08] .002} 20 |5.32, .030
o | 5.60] .o0L |21 |5.60| .003| 21 | 6.50| .00L | 21 |5.60] .020
22 | 5.88] .000 | 22 5.88| .00L| 22 | 6.72| 000, 22 [5.83) .013
25 | 6.16| .000 25 | 6..6 0 .008
oh | 6.4k .005
25 |6.72] .003
26 17.00. .002
L 27 17.28) .00

- 28 | 7.56

. 29 | 7.84 | ,000

! |
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Hydrograph family 4

TJT, = W T./Tp = 6 To/T, = 10 To/Tp =16

Live| % |ac/% | Rioelt/%p | ao/3p [Line |o/5p |acjap | Eine | Ty | 2
| 1 ]0,00] .000}f 1 | 0.00] .000 1 | 0.00 .000 1 | 0.00] .000
2 | 0.40] 023 2 | o.ko| .01k 2 | 0.50] .015 2 | 0.62¢ .015
3 10.80] .143 3 0.80{ .088 3 1..00| .079 3 | 1.2k] 064
% |1.00| .22 % [1.20] 201 | 4 | 1.50 .50 f W |1.86] .112
5 11.60] .326 5 1.60] .24k 5 2,00 .177 5 | 2.48] .128
6 | 2,00 3401 6 | 2.00] ..250 6 | 2.50 .170 6 |~3.10| .119
71240 3371 7 | 2.40] .246 7 | 3.00 .159 7 | 3.72| .105
8 |12.8] .325}] 8 | 2.8 .240 8 | 3.50 .152 | 8 | 4.34| ,097
91| 3.20| .3C6 9 3,20] 233 9 k.00 .146 9 | 4.96] .09
10 | 5.60| .o95| 10 | 3.60| .22 | 10 | k.50 .1 ] 10 | 5.58] .091
11 | %.00| .28 | 11 | k.00| .202 | 11 | 5.00 .136 § 11 | 6.20| .089 |
12 | 4,40 .266 | 12 L.ho| .202 | 12 5.50 .131 § 12 | 6.82} .087
15 | 4,80 .197 | 13 4.80] .19k | 13 6.00] .126 | 13 | 7.4h4]| .085
14 | 5,20 .122| 1% | 5.20] .189 | 14 | 6.50 .121 | 1k | 8.06| .082
15 | 5.60] .067 1 15 5.601 187 | 15 7.00 .116 | 15 | 8.68| .079
16 | 6.00] .0%6| 16 | 6.00| .185 | 16 | 7.50 .112 | 16 | 9.30| .076
17 | 6,40 .021| 17 |-6.40] .175 | 17 8.00, .1l12 17 | 9.92] .OTh
18 | 6.80| .003| 18 | 6.80 .131 | 18 | 8.50 .111 | 18 19,54 .072
19 | 7.20] .008} 19 | 7.20{ .080 | 19 | 9.000 .11l | 19 |11.16] .O7L
20 | 7.60f .005| 20 7.60] 046 | 20 | 9.50 110 | 20 |3131,78] .070
21 | 8.00| .002| 21 | 8.00| .027 | 21 hgo.00l .110 | 21 |12.h0| .069
22 | 8.50| .00L| 22 | 8.40 .016 | 22 b5 s | .100 | 22 |13.02] .069
23 | 8.80] .000| 23 8.80| .009 | 23 hy.00! .065 1 23 {13.64] .069
2k | 9.20] .005 | 2% ny,s50| ,033 | 2% |1h.26] .069

25 | 9.60] 003 | 25 bo ool .op5 | 25 |14.88 .069

26 lo.00l 0oo ) 26 h2.50] 007 26 15.50 .069

27 joual oo 27 Bs.00| .00k | 2T 16.12] .068

28 logol oood 28 hz.500 002 | 28 16,74 053

29 hh,00| L001 ) 29 117.36] .023

30 hh,50| .000 | 3© 117.98 .009

31 118.60, .00k

32 19.22) 002

/ 35 ]19.84 .001

3 | 20,44  L,000
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Hydrograph family 4

| To/Tp= 25 To/Tp = 36 To/Tp = 50
;ine t/Tp |ac/dp I;]i:e t/Tp qc{qp I}\J};ne t/Tp |ac/dp
1| 0.00] .000 |l 1 | 0.00| .0000} 1 | 0.00].0000
2 | 1.02} .025 [l 2 | 1.50] .0306) 2 | 2.00].0277
3] 2.04] .070 || 3 | 3.00] 0575 3 | 4.00].0464
4 | 3.060 .092 || 4 | 4.50| .0672]| 4 | 6.00 | .0435
5| 4.08 .082 || 5 | 6.00] .0492]| 5 | 8.00|.0378
6 | 5.10{ .068 || 6 | 7.50| .0433]| 6 10.00 |.0335
7| 6.12] 062 || 7 | 9.00] .0418|| 7 |12.00 |.0307
8 | 7.14] .059 || 8 |10.50| .0408]| 8 |14.00 |.0291
9 | 8.16| .056 || 9 |12.00] .0400| 9 |16.00 | .0282
10 | 9.18 .055 |10 | 13.50| .0391[|10 [18.00 | .0274
L11 | 10.20] .054 |11 |15.00] .0382 11 |20.00 | .0266
12 | 11.22| 083 112 |16.50] 03711112 22,00 }.0258
13 | 12.24} .052 }l13 |18.00| .0358 |13 |24.00 | .0250
14 | 13.26] .050 |l14 |19.50] .0341]l14 |26.00 |.0242
15 | 14.28] .049 |l15 |21.00] .0319 /15 |28.00 | .0234
16 | 15.30| .047 |l16 | 22.50| .0308.[16 |30.00 | .0230
17 | 16.32| .046 ||17 | 24.00] .0306 |17 {32.00 | .0229
18 | 17.34| .045 }118 | 25.50| .0306 {18 134.00 | .0227
19 | 18.36f .044 ||19 | 27.00] .0306]{19 136.00 | .0226
20 | 19.38] .044 20 |28.50| .030620 138,00 .,0225
21 204()» 044 121 3000 0306 {12] 40.00 | .0224
22 | 21.42| 044 22 |31.50| .030622 [42.00 |.0222
23 | 22.44| 044 |23 |33.00| .0306||23 |44.00 | .0221
24 | 23.46| .044 |24 |34.50| .0306|/24 |46.00 | .0219
25 | 24.48| 044 |25 [35.00] .0306]|25 48,00 |.0219
26 | 25.50| .039 (26 | 37.50| .0085|[26 |50.00 | .0217
27 | 26.52| .012 |27 |39.00] .0009 127 |52.00 | .0029
28 | 27.54] .004 [28 | 40.50 .0000 |28 |54.00 | .0000
29 | 28.56] .00l
30_| 29.58] .000
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Hydrograph family 5

(_/ To/‘Tp = 1 T,/Tp = 1.5 fx:Q/Tp = 2 TO/TP =3
vor | P %% | kine /Ty | ac/ap Line Je/Ty lac/ay | Line | o/ | acjay
1 10.00] 000 1 ] 0.00; ,0004 1 | Q001 ,0000 1 .000 | _.000
2 1006 .021 2 1 0,251 L0135 2 | 0,25 010} 2 O34 | 010
3 10.92 ] ,106 3 1 0.0 065] 3 | 0.50| .ouB8I 3 0.68; .068
L lo.78] 280 | 4 |05 a3l & | ousl 127l & 102! L1
5 11.0% | .5%0 5_1.1.00] 306! 5 | 1,00 .2271 5 1.36] .229
6 _11.30] .740 6 1.25| L3k} 6 | 1.25] .318% 6 _]-1.70] .283
T 11,561 88 | 7 | 1.50| .5621 7 | 1.%0] 7 | 2.04] .315
8 1.8 ,767 8 | 1.75 680 [ 8 8 12.38] .339
9 12,081 ,5% 9 2.00f .37, 9 _ 9 2.72] 378
10 (2,34 ,ho6 i 10 | 2.25 .673; 10 . 10 3,061 U459
1 12,60 ,279 | 11 | 2,50 5301 11 LBh2T 11 {3000 509
12 12,860 ,195 | 12 | 2.75| 381 12 | 2.7% S761 12 3R] M6
13 (3.2 .3k @ 13 | 3.00] .262] 13 | 3.00; 450113 | 4.08] .310
Q/‘ W 13,381 092 ¢ 1k 3.25| L185 1k | 3.25] L3227 b 'Lhe| ,190
. 15 13,64%] 0050 15 | 3.50] 129 15 | 3,50 .zge2! s L7610 117
16 3,90 .¢hh | 16 | 3.75 090 16 | 3.75 .1% 16 | 5.10| .069
17_|%.36] .030 | 17 | %.00] .065] 17 | %.00] 109, 17 | 5.d| 040
18 {4.h2| 021 18 | 4.25 .0k5) 18 hoosi L0751 18 5.781 .025
19 |h.68] .015 ) 19 | h.50] .031] 19 | k.50 .03 19 | 6.12] .016
20 |h.oh! ,009 | 20 | 475 .022l 20 | B.75 .057. 20 | 6.46] 009
21 | 5.20, 005 | 2L | 5.00] .Olki 21 | 5.00 .025f 21 | 6.80| .005
22 | 5,46 002 | 22 | 5.25 ,009 Toil! 003
23 | 5.72! .000 | 25 | 5.50 .005 T80 .00
2k | 5.75  .003 P 7,821,000
25 | 6.00 .00L N
26 | 6.25 .000 S T
-~ e P SRS S
C |
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L

Hydrograph family 5

ol Tp = To/Tp = 6 'ro/'rp = 10 To/Tp = 16
o Rl I i el ol N S vl I
1 | 0,00 .000 1 |o.00! L0001} 1 0.00! .000 1] 0.00 .000
2 0.36] _.010 2 0.52 015 2 0.67] 013 2 0.80 008
3 Q.72 053 3 11,040 L0701 % 134 061 3 | 1.60] 046,
L 1.08 124 L 11,56 L1301 b 2.01| 091 L | 240l 060
5 | 1.4 181 5 12.08) 1591 5 2.68] 1102 5 1 3.20! 065

—6 [ 1.80; .220 6_12.601 .A721 6 3,35 _.107 6 1" L.00 067
7 2.16] 243 7 1312 L1781 7T h,02, 110 7.1 4.8 .0A7

8 | 2.50 056 | 8 |z.64]| 18| 8 | h6o 111 ) 8 |'5.60 .068

9 | 2.88 263 | o |4,16] ,18 | 9 | 5,36 ,111 | 9 | 6.hol 068
10 .24 L2753 | 10 | 4,68( L,184 | 10 6,03 o112 | 10 | 7.20_ .068
11 | 3.60 ,308 | 11 |5.20| ,218111 | 6.70 132 | 11 | 8.00| .08
12 3,96 L3380 I 12 | 5,72| L285 ) 12 737,112 §-12 | 8.80 068,
13 | hmol ko7 | 13 | 6.2 G304 | 13 | 8.04 116 | 13 | 960l 068
| 468 377 0 W | 6,76] ,267 | 1+ | 8,71 .160 | 4+ j10,40| ,068
15 .08 .260 | 15 | 7,28] 133 | 15 9,38 198 | 15 111.20| °.068
16 | 540 L3155 | 16 | 7.801 L064 | 16 10,05 .212 | 16 12,00 068
17 5,76, .09 | 17 | 8.32] .029) 17 110,72 ,168 { 17 12,80 .086
18 | 6,12 ,055 | 18 | 8.8 016118 |11.39 .o7h | 18 13.60{ 121
19 | 648 ,0%2 | 19 | 9.36] .007| 19 12,06 .027 19 hh.Ao| 133
20 | 6.8 .019 | 20 |9.88] .003 | 20 | 12.75 .010 20 15,201 ,136
21 | 7.20] .012 | 21 l10.h0| o012 l3zhg .005] 2L 06,00 ,137
22 Ts 007 | 22 110,92] L0001} 22 |i4.07 .o02 |22 [6.80] .098
23 7.94 ,00h 23 .|k 74 000 1 °3  07.60| ,03%3
o | 8,28 002 2k hgho | 012
25 | 8.64 .000 22 19,20 | o0l

26 10,00 | .001
27 _ 20,80 | .000




